2 BB R L OEBEMNLER

Q) EEHEH
<KFEFRAZE> = = = = %%mﬁsﬁ; AR
= ey NS y ~740, 41~50, 51~60 61~ S5
FEE FHE LEHEHR B e = T % T 1 % 5 % 5 %
1 4 7 3 11 4
A 1 4 3 1 3 1 7 6
HNEEPES | EEISa=r—SaveR 14 B3 - SEMED 1 0 1
0 0
I 1 0 4 5 5 3 8 3 18 11
4 1 8 3 12 4
f 3 1 1 1 2 2 3
FERR | #E131=45—1a R 16 B &5 1 1 1 1
BhF 0 0
INEE 1 2 0 5 3 8 3 15 8
Ef 2 1 1
A 2 2
a31=H—LavHasH 8 B - SEME 0
0 0
I 0 0 3 2 0 0 2 1 5 3
3 2 2 3 5 5
f 3 1 2 1 1 3
REREFH 10 B 5 1 1 0 2
BhF 0 0
. Ve 0 1 1 2 3 3 2 4 6 10
ARIES ag 3 2 3 2
BB 1 2 2 2 1 4 4
AR 10 B - ST RED 0 0
E3 1 1 0
/NEE 1 0 1 2 5 2 1 2 8 6
Bl 1 1 1 1 1 3 3 5
K 2 1 1 3 1
DR 10 B - BAER 0 0
BhF 1 1 1 1
INEE 1 1 3 2 2 1 1 3 7 7
BiE 1 2 1 4 0
KX 4 1 4 1
HPREFR 8 Bh¥ - S T SMAT 1 1 2 0
5 3 5 3
I 6 3 5 1 3 0 1 0 15 4
1 2 2 3 2
f 3 1 1 1 1 2
ERBEER 8 B 5 2 2 0
BhF 2 2 2 2
REBEREAM /Bt 4 2 1 1 1 3 2 0 8 6
2 E35] 2 3 1 5
R 1 1 1
FRERRE PR 8 Bh3 - T MED 1 3 0 4
2 0 2
I 0 3 0 3 3 1 3 1 6 8
4 1 0 5
f 3 5 2 0 7
BEFH 12 Bh 5 5 1 4 1 9
BhF 1 1 0
INEE 0 5 2 9 0 6 0 1 2 21
EEFYINRE T 42
0 0 3 2 20 10 26 17 49 29
3 1 1 15 17 6 11 2 1 24 30
At 146 Bh 5 4 8 2 8 1 1 0 0 7 17
BhF 9 8 1 0 0 0 0 0 10 8
INEE 14 17 21 27 27 22 28 18 90 84
XA (5. RUPHhD)
K fHEHEET
SKFEFRAFRERES KKFOBENEBTHHEFHRS
oy i ~20m% 71 ~508% 51~ 60% 61~ Fi
B(Fr) | () | BEERD | A | B | &) | BERAD | &) | B(E6) | &(EED)
SNEZEFHER E26d 1 0 1
BEPHER E6d 2 2 0
N 0 0
REERNFHARR 0 0
BEFHRH Bi% 4 0 4
|t 0 0 0 0 0 1 2 4 2 5




	令和4年

